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axfxF (@B BF) 6.000kg

E5xES K4 F g 1EI8 | 2@EIB | 3EB | &k | 408 | 5EIB | 6@B | &% | IEf6
1 1687 | BEHIKER | 1 BEES 10.85 10.81 10.76 10.85 X 11.31 X 11.31 1
AR IT (BB F) 4.000kg
EHRES K4 =3 g 1mE | 2@ | 3EEB | & | 4EE | 5mE | 6@E | e | Bk
1 1175 | Bhdp EHEH | 1 THEFS 715 713 7.18 7.18 7.13 7.15 7.32 7.32 1
2 1304 | F& #E=E | 1 BEES 5.95 5.83 6.05 6.05 6.25 5.74 6.41 6.41 2
F8%F(—#& B F) 2.000kg
BERES K4 F g 1EIB | 2@IB | 3EEB | ik | 40E | 5EIB | 6@B | &% | IEfR
1 | 7-1189 | XN BEE | 4 | #BWFEMRK | 3037 X X 30.37 O O x 30.37 1
2 1890 ET # 2 |EEXEEEX x X 24.26 24.26 O X X 24.26 2
HBZRT(EREBF) 1.750kg
EHRES K4 F g 1EIB | 2EIB | 3B | &8k | 468 | 5EB | 6EB | 8% | IEf6
1 1772 HFE Fi&E | #HiEE X O X 0.00 X 29.91 X 29.91 1
A% (RSB F) 1.500keg
ERES K4 F g 1EIB | 2@IB | 3EEB | ik | 40E | 5EIB | 6@B | &% | IEfR
1 4963 EWMEA | 3 | ERELES | 3200 e) 3255 | 3255 e) 34.58 e) 34.58 1
A% T (&% F) 1.000kg
BERES K4 F FiiE 1EIB | 2@IB | 3EEB | ik | 4B | 5EIB | 6@B | &% | IBfR
1 1097 | BR R4% | 1 #IDHE S X 20.87 @) 20.87 @] O @) 20.87 4
2 1278 |F=3% BEHE| 1 THEZFS 19.58 20.61 @] 20.61 21.81 @] @] 21.81 2
3 180 AiE =Z==E | 1 RALFE X 16.58 0] 16.58 x X ®) 16.58 5
4 1303 | #5 &5 | 1 BEES 18.32 | 20.95 O 20.95 0] x 0] 20.95 3
5 192 BN KB | 2 EBEE 21.40 21.99 X 21.99 23.42 @) @) 23.42 1
A8 (R & F) 1.000kg
EHRES K4 F e 1EIB | 2[EIB | 3B | &8k | 468 | 5EB | 6EB | 328 | IEf6
1 4962 |iE8 TEMTE| 3 | BMRREET X 18.85 19.74 19.74 | 2048 | 21.87 @) 21.87 1
NoI—EBIF(— B EF) 7.260kg
EHRES K4 =3 g 1mE | 2@8 | 3[EB | 8% | 4mB | sEE | 6EB | 2% | F=E
1 | 7-1190 | JUEA =T | 4 | #|UFERK | 3251 33.20 @) 3320 | 3386 @) 35.64 | 3564 1
NR—BIF(RRI—ZXBF) 4.000kg
EHRES K4 =3 g 1mE | 2@8 | 3[EB | 8% | 4mB | sEE | 6EB | 2% | F=E
1 2340 | A A= | 70 | RIESTRER | 2069 | 22.05 X 22.05 - x - 22.05 1
NT—EIT(E#REF) 6.000kg
ERES K4 F il 1EI8 | 2@IB | 3EB | &k | 408 | 5EIB | 6@B | & | IEf6
1 107 Ba B} | 2 mEES X x 4235 | 4235 O @) O 4235 1
2 1686 | Kft 24 | 1 AEES X X 35.41 35.41 36.22 | 37.14 @) 37.14 2
3 1687 | BEHIKHE | 1 mEES 28.43 @) X 28.43 29.20 @] @] 29.20 3
NI—EIF(ERZF) 4.000kg
ERES K4 F g 1EI8 | 2@B | 3EB | &k | 408 | 5EIB | 6@B | &% | IEf6
1 1303 | #5 &5 | 1 AEES 20.18 | 21.85 e) 21.85 x O 2389 | 2389 1




